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MD_STATUS R_CSI01_Send_Receive(uint8_t * const tx_buf,
uintl6_t tx_num,
uint8_t * const rx_buf)

if (OU !'= gp_csi01_tx_address)

{
/* started by writing data to SDR[15:0] */
SDRO1 = (SDRO1 & OXFEOOU) | (*gp_csiOl_tx_address /* {E1ERI */
| ((*(gp_csi01_tx_address + 1U) & 0x01U) << 8U)); /* {E1ERI */
gp_csiOl1_tx_address += 2U;

MD_STATUS R_CSI01_Send_Receive(uint8_t * const tx_buf,
uintl6_t tx_num,
uint8_t * const rx_buf)

if (OU !'= gp_csi01_tx_address)
{
/* started by writing data to SDR[15:0] */
SDRO1 = (uintl6_t)(*gp_csi0l_tx_address | ( /* AEIE#& */



(*(gp_csi01_tx_address + 1U) << 8U) & OxFFOOUL); /* {E1E%& */
gp_csiO1_tx_address += 2U;

if (g_csi01_tx_count > 0U)
{
if (OU !'= gp_csi01_rx_address)
{
*gp_csiO1_rx_address = (uint8_t)(SDR0O1 & Ox00FFU);
*(gp_csi0l_rx_address + 1U) = /* AEIERT */
(uint8_t)((SDRO1 & 0x0100U) >> 8U); /* AZIERT */
gp_csi01_rx_address += 2U;
b
else
{
sio_dummy = SDRO1;
b
if(OU !'= gp_csi01_tx_address)
{
SDRO1 = (SDRO1 & OxFEQOU) | (*gp_csiO1_tx_address /* {E1E&] */
| ((*(gp_csi01_tx_address + 1U) & 0x01U) << 8)); /* {EIERT */
gp_csi01_tx_address += 2U;

if (g_csi01_tx_count > 0U)

{
if (OU != gp_csi01_rx_address)



{
*gp_csiO1_rx_address = (uint8_t)(SDR0O1 & OxO0FFUL);

*(gp_csi0l_rx_address + 1U) = /* AEIE#& */
(uint8_t)((rSDRO1 >> 8U) & 0x00FFUL); /¥ {BIE& */
gp_csi01_rx_address += 2U;

b

else

{
sio_dummy = SDRO1;

b

if(OU != gp_csi01_tx_address)

{

SDRO1 = (uint16_t)(*gp_csi0l_tx_address | (  /* 1E1E%# */
(*(gp_csi01_tx_address + 1U) << 8U) & OxFFOOUL); /* IEIE# */
gp_csiO1_tx_address += 2U;

(2) UARTE U TIERT 55
r_cg_serial.c (C3»DdUARTX{EEE%EL R_UARTN_Send(void) .
r_cg_serial_user.c (CdDUARTXET T E| DIiAFHBEEL
r_uartn_interrupt_send(void) &UART{E5E T EI D1AFHBIER
r_uartn_interrupt_receive(void) M3 DDA DIXZERED
F—FEEEEIELTLIEE0N,
(NEFFrRILESZEKRULET, )

- F )L0Z(ER UTZUARTIX(SREZR D)

SDROO = (SDROO & OXFEOOU) | (*gp_uart0_tx_address /* {E1ERI */
| ((*(gp_uart0_tx_address + 1U) & 0x01U) << 8U)); /* {E1ERI */



SDROO0 = (uint16_t)(*gp_uart0_tx_address | ( /* AEIET& */
(*(gp_uart0_tx_address + 1U) << 8U) & OxFFOOUL); /* 181F%# */

if (g_uart0_tx_count > 0U)

{
SDROO = (SDROO & OxFEOOU) | (*gp_uart0_tx_address /* {E1ERI */

| ((*(gp_uart0_tx_address + 1U) & 0x01U) << 8U)); /* {Z1ERI */

if (g_uart0_tx_count > 0U)
{



SDROO0 = (uint16_t)(*gp_uart0_tx_address | ( /* EIETR */
(*(gp_uart0_tx_address + 1U) << 8U) & OxFFOOUL); /* 181F%#% */

static void ___near r_uartO_interrupt_receive(void)

{
uintl6_t rx_data;

if (g_uart0_rx_length > g_uart0_rx_count)

{
*gp_uartO_rx_address = (uint8_t)(rx_data & Ox00FFU);
*(gp_uart0_rx_address + 1U) = /* AZIERT */
(uint8_t)((rx_data & 0x0100U) >> 8U); /* AZIERT */
b
b
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static void ___near r_uartO_interrupt_receive(void)

{
uintle_t rx_data;

if (g_uartO_rx_length > g_uart0_rx_count)
{
*gp_uart0_rx_address = (uint8_t)(rx_data & OxO0FFUL);
*(gp_uart0_rx_address + 1U) = /* {EIE#& */
(uint8_t)((rx_data >> 8U) & OxO0FFUL); /* {81E4#& */
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